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& T vl B o ude 9E) Sk @ o 3 3 A ST, ®1g o Swx 11 3 &) Reafa # o 3 fa=r

SIRATT T UA® Toid Soax & o1 1 3 dreT ST |

1. In the absence of any agreement, partners are liable to
receive interest on their Loans @

(a) 12% p.a. (b) 10% p.a.

(c) 8% p.a. (d) 6% p.a.

AN Hol & 9d F 0T IR IToT oA SI1am 28—
(a) 12 wferera wfday (b) 10 wfcrera gferad
(c) 8 ufcrerg ufcrad (d) 6 ufrera ufcad

2. Seeta and Geeta are partners sharing profits and losses in
the ratio 4:1. Meeta was manager who received the salary of
Rs. 4,000 p.m. in addition to a commission of 5% on net
profits after charging such commission. Profits for the year is
Rs. 6,78,000 before charging salary. Find the total 5.
remuneration of Meeta.

(a) Rs. 78,000. (b) Rs. 88,000.

(c) Rs. 87,000. (d) Rs. 76,000.

A iR AT FERR 8, S o e 4 0 1 # dfed §

AT yeu®d &, R 4 89R $0 UfAHIE 9d9 e & &1 5
gfoerd HHRE A1 ST 8 S99 B @1 'eH @ 914 |

I W gd a¥ P 9 6,78,000 %. & | HIAT BT 7T B

RS BT —
(a) 78 EWIR (b) 88 &R
(c) 87 'R (d) 76 BWIR

3. Inthe absence of an agreement, partners are entitled to
(a) Salary. (b) Commission.
(c) Interest on Loan and Advances.
(d) Profit share in capital ratio. 6.
WERERI Holg & MG H A=IGRT & f3ar Sfmar & —
(a) da (b) Bfe=
(c) T WR T
(d) OGS0 & argura # @ favTe

4. Bill and Monica are partners sharing profits and losses in the
ratio of 3:2 having the capital of Rs. 80,000 and Rs. 50,000
respectively. They are entitled to 9% p.a. interest on capital
before distributing the profits. During the year firm earned

Rs. 7,800 after allowing interest on capital. Profits
apportioned among Bill and Monica is:

(a) Rs. 4,680 and Rs. 3,120. (b) Rs. 4,800 and Rs. 3,000.
(c) Rs. 5,000 and Rs. 2,800. (d) None of the above.

e qem Aife AERR € S 3 2 9 oM ' dgied € e
ITa! Yol HER 80000 . TAT 50000 . T @ & fawer
H U 9 Yot R 9 ufererd arfifes &1 et ue & e 2|
Y & IR Yol W &S & & Ugar] BH - 7800 %. B o™
HHMT | fde1 Tor AT & dra o faaRa gar

(a) 4680 . T 3120 <. (b) 4800 . 2T 3000 .

(c) 5000 %. TeIT 2800 . (d) SRIaT H BIg LT |

P and Q are partners sharing Profits in the ratio of 2:1. R is
admitted to the partnership with effect from 1st April on the
term that he will bring Rs. 20,000 as his capital for 1/4th
share and pays Rs. 9,000 for goodwill, half of which is to be
withdrawn by P and Q. How much cash will P & Q withdraw
from the firm on account of goodwill?

(a) Rs. 3,000 and Rs. 1,500 (b) Rs. 6,000 and Rs. 3,000
(c) Nil (d) None of the above

P3R Q2:1% 3gud # WEER 8, RI=EM R 3 13Wd &
gaeT &, R % 34 & forg 20000 w9 Yol & @@= 9000 wUJ
B I Aar g, el @t P9 Q gRT Maral o 9l &, Pa
Q eRT el =Y wfdr enft —

(a) 3000 @ 1500 wTI (b) 6000 @ 3000 WU

(c) Nil (d)SRIFT # | B 8 |
Ratan and Karan entered into partnership on April 1, 2009.
They invested capital Rs.15,000 and Rs.10,000 respectively.
It was agreed that 8% p.a. interest will be calculated both on
capital and drawings. Drawings were made as follows:

Ratan Karan
June 30 600 800
Sept. 30 500 700
Dec. 31 400 600

Karan was entitled to a salary of Rs. 250 p.m.

AIAO-2015 SECOND ROUND (Inter School Round)

Page: 12/B-1



ALL INDIA ACCOUNTANCY OXYOPIA (AIAO) -2015

Profit before adjusting interest and salary was Rs. 8848.
Divisible profit will be

(a) Rs. 4,000 (b) Rs. 3,000

(c) Rs. 5,000 (d) None

RAT T BHROT 130l 2009 PI AFER H T HA B, D!
YS 15000 9 10000 w9 B | Yol WX &TST AT JATERVT TR
TS BT X 8% B, B GRT I M JAER0T 7171 ISR 8 —

Nd+ Cadll
30 5 600 800
30 faweR 500 700
31 fegwR 400 600

HROT BT 250 BRI UfaHTE I fear Srar €, 9a9 dn e &
g gy P AW 8848 Y ©, A9 AT o BT —
(a) 4000 T} (b) 3000 =Ty
(c) 5000 &I (d) SIRIFT # | HIg T2 |

7. A, B and C were in partnership sharing profits in the ratio of
4:2:1 respectively. A guaranteed that in no case C’s share in
profit should be less than Rs. 7,500. Profits for the year 2009
amounted to Rs. 31,500. A will get
(a) Rs. 15,000 (b) Rs. 18,000
(c) Rs. 16,000 (d) None of the three
A/B,C4:2:1% Jguid ¥ AEER &, A, CH A9 7500
T BT TRT! a1 8, a4 &7 ™ 31500 B9 &, A BT U<
ey gnft -
(a) 15000 = (b) 18000 U
(c) 16000 wTI (d) SR & 4§ BIg T2 |

8. Following are the factors affecting goodwill except:
(a) Nature of business.
(b) Efficiency of management.
(c) Technical know how.
(d) Location of the customers.
=1 "ed wfa & gaifad axd 2 | Rar
(a) T BT UHM (b) Us=er @Y HRIeTHAT
(c) =Y 5 (d) uTE®r BT Rerfer |

9. The capital of O and P are Rs. 60,000 and Rs. 20,000
respectively with the profit sharing ratio 3:1. They decide to
change the ratio to 5:3. On the date of change goodwill is
valued at Rs. 75,000. Goodwill account will not appear in the
books. Journal entry to give the above effect will be

O @2 P a1 Yofl #er 60000 @ 20000 B, & faTeTT Srgurd
3:18 foR1 uRafda &= 5 : 3 far war| gRacs @1 fafer @
@i 75000 ©UF R, A Wi QR ¥ e fewrar o g,

SWRIad gRads & fofw o9at ufafte grft —
(a) Goodwill A/c Dr. 75,000
To O’s Capital A/c 56,250
To P’s Capital A/c 18,750
(b) Goodwill A/c Dr. 75,000
To O’s Capital A/c 46,875
To P’s Capital A/c 28,125
(c) P’sCapital A/c Dr. 9,375
To O’s Capital A/c 9,375

(d) SWRIad # | B 7L |

10.The profits for 2008-2009 are Rs. 2,000; for 2009-2010 is Rs.
26,100 and for 2010-2011 is Rs. 31,200. Closing Inventory for
2009-2010 and 2010-11 includes the defective items of Rs.
2,200 and Rs. 6,200 respectively which were considered as
having market value NIL. Calculate goodwill on simple
average profit method.
(a) Rs. 23,700. (b) Rs. 17,700.
(c) Rs. 13,700. (d) Rs. 17,300.
Y 2008—09 & forI 2000 %. 2009—10 & oI 26100 & I
2010— 11 @& for¥ 31200 wUd <™ oT| 2009-10 eI
2010-11 & fordr qifom wefe # H¥er 2200 %. T 6200 .
3l e 43 wife, e IR e T qM1 T 8 SR

irea ffYy & w=fa &1 g =g I | -
(a) 23700 <. (b) 17700 .
(c) 13700 =. (d) 17300 <.

11.The profits and losses for the last years are 2007-08 Losses
Rs. 10,000; 2008-09 Losses Rs. 2,500; 2009-10 Profits Rs.
98,000 & 2010-11 Profits Rs. 76,000. The average capital
employed in the business is Rs. 2,00,000. The rate of interest
expected from capital invested is 12%. The remuneration of
partners is estimated to be Rs. 1,000 per month not charged
in the above losses/profits. Calculate the value of goodwill
on the basis of two years purchase of super profits based on
the average of four years.
(a) Rs. 9,000. (b)Rs.8,750. (c)Rs.8,500. (d)Rs.8,250.
fora aul & @™ den sl § : 2007—08 BN 10000,

(a) Goodwill A/c Dr. 75,000 2008—09 ®IfY 2500, 2009—10 & 98000, 2010—11 o™
To O’s Capital A/c 56,250 76000 | Fadrl H offl 3T il & 200000 . | gofl fAeer
To P’s Capital A/c 18,750 R AT & & <X 2 12 9w | AEieR ® uiRsiffe &1

(b) Goodwill A/c Dr. 75,000 1000 %. "fd @@ &1 ogAM 2| fva IR auf & ofid &
To O’s Capital A/c 46,875 MR R ATl & I a8 & HI & AR TR AT BT oo
To P’s Capital A/c 28,125 fraprfery |

(c) P’s Capital A/c Dr. 9,375 (a) 9000 %. (b) 8750 .
To O’s Capital A/c 9,375 (c) 8500 . (d) 8250 .

(d) None of the above
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12. A, B and C are equal partners. D is admitted to the firm for
one-fourth share. D brings Rs. 20,000 capital and Rs. 5,000
being half of the premium for goodwill. The total value of
goodwill of the firm is
(a) Rs. 10,000 (b) Rs. 40,000.

(c) Rs. 20,000 (d) None of the above

A, B, C TR & AEER &, DT @l § 1/4 Ry & forg gawr
&=, D 20000 w9 &1 IS 9 5000 wU U 2wy &I =TT
BT T AT 8, B Pl el AT BRI —

(a) 10000 (b) 40000 (c) 20000 (d) PIE &l |

13.A firm had an unrecorded investment of worth Rs. 5,000.
Entry in the firms journal on admission of a partner will be

(a) Unrecorded Investment A/c Dr. 5,000
To Revaluation A/c 5,000
(b) Revaluation A/c Dr. 5,000
To Unrecorded Investment 5,000
(c) Partner Capital a/c Dr. 5,000
To Unrecorded Investment 5,000

(d) None of the three
Th BY P UM 5000 &1 IR—3fafaRed s om| e
JAEER @ Y99 R B9 & Ao=r9er ¥ yfafke grfi—

(a) Unrecorded Investment A/c Dr. 5,000
To Revaluation A/c 5,000
(b) Revaluation A/c Dr. 5,000
To Uncrecorded Investment 5,000
(c) Partner Capitcal A/c Dr. 5,000
To Unrecorded Investment 5,000
(d) D= 5 Brg B

14.0n the admission of new partner, which one of the following
lying in the balance sheet should be transferred to the capital
accounts of the old partners in the old profit sharing ratio?

(a) Bank Overdraft (b) General Reserve

(c) Bill payable (d) Outstanding Expenses
T AEER & Y99 & 999 g 7 Q@R WA
R ARERI & RE @™ — B Jgad H Yol @l H
FAaRd fhar ST @@y |

(a) S arfSfawy (b) AT Herg

(c) &7 faret (d) aree @

15.A and B are partners sharing profits in the ratio 5:3, they
admitted C giving him 3/10th share of profit. If C acquires
1/5th share from A and 1/10th from B, new profit sharing
ratiowillbe
(a) 5:6:3 (b) 2:4:6 (c) 18:24:38 (d) 17:11:12
T g 1 5:3 @ AU H A dic dTel AIEER §, =i A
P A BT 3 /1091 9T < 8¢ A fHaAr| Afe A BT T A
1/5dqF IRT OIS BIAT & 9 § 9 1,/ 1091 ¥R 9T 8iar § dF =40
S TSI STuTa ERT—

(a)5:6:3 (b)2:4:6 (c)18:24:38 (d)17 : 11 : 12

16.Ram and Rahim have been sharing profit and losses in the
ratio of 4:3 Rahman is admitted as a partner. He acquires his
1/7 share only from Rahim. New ratio will be
(a) 3:2:1 (b) 4:2:1
(c)5:2:1 (d) 2:2:1
I AT EH T B 4 @ 3 H dfe @ € | @AM Pl AEER &
wY H YA BT TAT| T8 AT 1,/7 9N Hael BH A 8
ST 8 | 7 SuTd BRT—
(@s3:2:1 (b)4 :2:1
(c)5:2:1 (d)2:2:1

17.Amit and Anil are partners of a partnership firm sharing
profits in the ratio of 5:3 with capital of Rs. 2,50,000 & Rs.
2,00,000 respectively. Atul was admitted on the following
terms: Atul would pay Rs. 50,000 as capital and Rs. 16,000 as
Goodwill, for 1/5th share of profit. Find the balance of
capital accounts after admission of Atul.
(a) Rs. 2,60,000: Rs. 2,06,000: Rs. 50,000.
(b) Rs. 2,20,000: Rs. 1,82,000: Rs. 66,000.
(c) Rs. 2,92,500: Rs. 2,25,500: Rs. 50,000.
(d) Rs. 2,82,500: Rs. 2,19,500: Rs. 66,000.
AT TAT AT Th ®H H AIRIER 8 Sl 53 § o™ 81 died
2| TAT D! YoIl HHLT: 250000 . TAT 200000 . © | AT
®1 =1 el R e fBar oo gd M $ 1/5 I &
ford 60000 . Gofl & ®Y H TT 16000 . &AM & wU H
FRATT | 31 & Y & ¥and goll @il & oY Jdisdy |
(a) 260000 : 206000 : 50000
(b) 220000 : 182000 : 66000
(c) 292500 : 225000 : 50000
(d) 282500 : 219500 : 66000

18.Sita and Gita are partners sharing profit in the ratio of 3:2
(Sita’s capital Rs. 6,000 and Gita’s capital Rs. 3,000). They
admitted Rita for 1/5th share of profit . How much Rita
should bring towards her capital?
(a) Rs. 2,250 (b) Rs. 3,000 (c) Rs. 1,800 (d) Rs. 6,000
Hrar den fiar wERR § e am e orgura 3 ;2§
(Frar &1 goit 6,000%. & T IF@T @ 3,000 ®)| T 1/5 AN
WA B fory S B Wi aed ¥ oo GeN & wRy dr
fpamr U o |
(@) 2250 ®.  (b) 3000 . (c) 1800 . (d) 60000 .

19.A and B are partners of a firm sharing profits in the ratio of 3
: 2. C was admitted for 1/5 share of profit. Machinery would
be appreciated by 10% (Book value Rs. 80,000) and building
would be depreciated by 20% (Rs. 2,00,000). Unrecorded
debtors of Rs. 1,250 would be bought to books and Creditors
of Rs. 2,750 died and needn’t to pay anything. What will be
the profit / loss on revaluation?
(a) Loss Rs. 28,000
(c) Profit Rs. 28,000

(b) Loss Rs. 40,000
(d) Profits Rs. 40,000
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20.

21.

22.

AR B 3 : 2 & U ¥ d1es & ford WEER 2| C &l
A B 1 /5 9T B ford ydwr <7 ® | FRY 10 ufed W §9
SRAN (TS e 80000%. ) 3R wad 20 URRd & &H &
SRR (200000%) faAT R&Te SAER 1250%. GRaidl H o
SR | 2750%. 1 oM&R R AT 3R O W FdHI Bl ST
T8I, JHSIIPT W A AT B BT |

(a) BT 28000%. (b) BT 40000%.

(c) @™ 28000%. (d) ST 40000%.

A, B and C are partners sharing profits in the ratio 2:2:1. On
retirement of B, goodwill was valued at Rs. 30,000. Find the
contribution of A and C to compensate B.

(a) Rs. 20,000 and Rs. 10,000.

(b) Rs. 8,000 and Rs. 4,000.

(c) They will not contribute any thing.

(d) Information is insufficient for any comment.

U AT WA WEER § W A B 2211 H died B 91 &
JITHTI—TEYT UR AT BT JeATdh 30000 . fbaT TAT &1
gt &= & fod ¢ Qe @1 &7 3fee™ A B |

(a) 20000 ¥ .TAT 10000 o. (b) 8000 . T2AT 4000 .
(c)& g® it A T B

(d) for=fY +fr fowol & ford e oot 2

A, B and C were partners in a firm sharing profits and losses

in the ratio of 2:2:1 respectively with the capital balance of
Rs. 50,000 for A and B, for C Rs. 25,000. B declared to retire
from the firm and balance in reserve on the date was Rs.
15,000. If goodwill of the firm was valued at Rs. 30,000 and
profit on revaluation was Rs. 7,050 then what amount will

be transferred to the loan account of B.

(a) Rs. 70,820. (b) Rs. 50,820.

(c) Rs. 25,820. (d) Rs. 58,820.

T A o Al U B H HEER © W A B HE 221 H
gied § TAT Id! Yol BHIE 50000, 50000 TAT 25000 & | 41 7
B ¥ ATHTY—TTIT B B GO B q 39 Ay 31 F=
BT AT 15000 . oA | A HH B WM BT B 30000 %.
a1 T ol gAHeAdT WR AT 7050 % AT AT d1 & U
@ # fhaer IR SaRa & S |

(a) 70820 (b) 50820 (c) 25820 (d) 58820
Balances of A, B and C sharing profits and losses in

proportionate to their capitals, stood as A - Rs. 2,00,000; B -
Rs. 3,00,000 and C - Rs. 2,00,000. A desired to retire from
the firm, B and C share the future profits equally, Goodwill
of the entire firm be valued at Rs. 1,40,000 and no Goodwill
account being raised.
(a) Credit Partner’s Capital Account with old profit sharing
ratio for Rs. 1,40,000.
(b) Credit Partner’s Capital Account with new profit sharing
ratio for Rs. 1,40,000.

23.

(c) Credit A’s Account with Rs. 40,000 and debit B’s Capital
Account with Rs. 10,000 and C’'s Capital Account with Rs.
30,000.

(d) Credit Partner’s Capital Account with gaining ratio for Rs.
1,40,000.

T & S o U & e # o SR gied & S gon
@rdl @ WY o : 37 200000 I 300000 TAT H 200000 F| T A
BH A AR & ey far @ qen @ wiosr § am
FAM wU I qICIT | AT BH BT =T BT ™D 140000 5.
o a7 qem B T @rar T8 @rerr T4 |

(a) 140000 & ¥ QR @ AT U H AEERI & Yol
Q| Bfse

(b) 140000 %. ¥ WEERI & Yol @I T4 &4 fIaror srgura
# pfee

() T T T 40000 % | HIST AT & BT Yol WIAT 10000 H
qerm ¥ &7 Yol @rdr 30000 W ST

(d) ATSIGRT & Yol W 140000 6. & o)) IF@ Uit gurd 9
EaicTeA

After the death of a partner, amount payable is received by
(b) Firm

(c) Executor of the death partner

(d) None of the three

T HEIER &I & & UL, < IR1 U B SRt 8-

(a) TRBR GRI (b) BH gRT

(c) 99 WRRER & fEd gRI

(d) = & g TS

(a) Government

24.X, Y and Z are the partners sharing profits in the ratio of

25.

7:5:4. On 30th June, 2008 Z died and profits for the year
ending 31st March, 2009 were Rs. 2,40,000. How much
share in profits for the period 1st April 2008 to 30th June
2008 will be credited to Z’'s account assuming the profit
occurred evenly throughout the year?

(a) Rs. 60,000 (b) Rs. 15,000

(c) Rs. 20,000 (d) NIL

X, Y T Z WEER & foTer o g1+ faror orgurd 7 : 5 ¢ 4 ¢
21 30 T[T 2008 P Z I HY B T AT 31 HIE 2009 Bl 3
B aret a9 & o7y M 2,40,000%. 9 | S 2008 & 30 S
2008 A% B AT & foy Z @ @ # fvan am wfse foar

TG Al @ R 9§ 9 g9 |
(a) 60,000%. (b)15,000%.
(c) 20,000%. (d) NIL

A partnership firm maintains its accounts on calendar year
basis. B, one of its partner died on 31st March 2006. The
profit for the year 2005 was Rs. 75,000, which was
distributed among all the three partners equally. The share
of profit of B for the year 2006 on the basis of the year 2005
will be:

(a) Rs.18,750 (b) Rs.25,000

(c) Rs. Nil  (d) Rs.6,250
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TP AR B AU WA helvsX dY AR W Gl 21 B,
SAPBT UHATSIGR 31 AT 2006 BT #R AT | 9§ 2005 & forg
™ 75000 ®. O S @ 9 AEGERI & weF _ER AR
5 T | 9 2005 B MYR W a9 2006 B fIT B BT A9 Br
fear g —

(a) 18750 %. . (b) 25000 <. (d) 6250 .

(c) T3

26.“Proposed dividends” is shown in the Balance Sheet of a

Company under the head:
(b) Reserves and Surplus

(c) Short Term Borrowings (d) Other Current Liabilities
URATId e HRe & g | few e & dga feamn
ST 2 |

(a) TUBIN TR
(c) STcUdTel F0T

(a) Short Term Provisions

(b) =T &R amferar
(d) 3= =re] =T

27.Equity shareholders have a right to:

(a) Vote (b) 20% dividend
(c) Have preference on redemption

(d) All of the above

AT 3Rl B TG R 7 |
(a) #C™

(c) v e &7

(b) 20 gfcrere aArTer
(d) Sugaa |

28.As per the Companies Act only preference shares, which are

can be issued:

(b) 30 years
(c) 25 years (d) 20 years
HAT AARE & IR dHad U AREE 3 1 e
far S addar ® @ 9 % Iax 81 &7 &
(a) 24 ¥ (b) 30 a¥ (c) 25 a¥ (d) 20 a¥

redeemable within

(a) 24 years

29.The following information pertains to X Ltd.

| Equity share capital called up Rs. 5,00,000

Il Calls in arrear Rs. 40,000

Il Calls in advance Rs. 25,000

IV Proposed dividend 15%
The amount of dividend payable =?

(a) Rs. 75,000 (b) Rs. 72,750
(c) Rs. 71,250 (d) Rs. 69,000
o e va farfics & ey v 2

| AT 3P—Ysil, AT 500000 T

Il. 9T Ira-TY 40000 .
. 3R Ir=EAT 25000 %,
IV. UATAd @ieT 15 Hfcrera
T AT B B8R

(a) 75,000 (b) 72,750

(c) 71,250 (d) 69,000

30. Shiva Ltd. issued 20,000 shares of Rs. 10 each at a discount of

10%. Payments were to be made as - on application Rs. 3; on
Allotment Rs. 4 and on First and Final Call Rs. 2. Applications
were received for 18,000 shares and all were accepted. All
money duly received. Balance Sheet total will be __

(a) Rs. 1,80,000 (b) Rs. 1,62,000

31.

32.

33.

(c) Rs. 1,90,000 (d) None of the three

fRrar folo 7 10% & ekl W UG 10 ®. el 20,000 37
i 63 | gaM 59 9eR f6d S 90— aded | 3 %,
JMGed W 4 ®. QAT YA Ud Sff<H IAMa=T W 2 %.| 18,000
39l @ forg arrdesus g gu ar |l iR aR forg M o |
|1 g1t fafdad ura &1 Y| enfdfe fres @1 AT BRT—
(a) 1,80,000 . (b) 1,62,000 %.

(c) 1,90,000 . (d) <=t & & BIg FE

A company offers to the public 10,000 shares for
subscription. The company receives application for 12,000
shares. If the shares are allotted on pro-rata basis, then
applicants for 12,000 shares are to be allotted as

(a) 4 shares for every 5 shares applied

(b) 2 shares for every 3 shares applied

(c) 5 shares for every 6 shares applied

(d) 3 shares for every 4 shares applied

T P 10,000 3T PI WG =g STaT H IR PRl
2| HF 12,000 3R B UG UF U BT 2 | e 3feT
AT SR WR ArEfed fbd S &, @1 12,000 3fe &
JATIEHI BT M@l B §—

(a) IMIfeT U 5 @i B 4

(b) JTITET URI® 3 3T B 2 37T

(c) AT URA® 6 AT &G 5 37

(d) mafed uR® 4 3fE TG 3 3T

The interest on calls-in-advance is paid for the period from
the .

(a) Date of receipt of application money to the date of

appropriation

(b) Date of receipt of allotment money to the date of
appropriation

(c) Date of receipt of calls-in-advance to the date of
appropriation of the call

(d) Date of appropriation to the date of dividend payment
STRH AT TR @M. @ afy & forg garam S 2 |
(a) 3mae= @ R @ wiftg & fafr & e & Of 9w
(b) 3meeH T @1 wiftq @ fafyr | fFraeE @ f[afyr a@

(c) 1fim @ wiftq a1 fafyr 9 o= @1 fafy d®

(d) fioe @ fafSr | amier @) fafr 9 |

The company issued shares of Rs. 10 each at a premium of
Rs. 2 payable as: On application — Rs. 3, On allotment— Rs.
4 (including premium), On first call — Rs. 3, On second and
— Rs. 2, Mr. E who holds 100 shares failed to
pay the first call money. The company has forfeited the 100
shares after the first call. On forfeiture, the amount debited to

final call

share capital account =?

(a) Rs. 1,200 (b)Rs. 1,000 (c) Rs. 800 (d)Rs. 700

P T 10%. B Iifdd eI BT Y 2% B NI W AR
frar | emdeT 3%, oNded 4%, (MfHgH wffe), wem AR 3%,
fgda g i<\ @i 2%, A § R/ aT 100 39T 9, UM AT
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BT PIAE el fhd S WR, BRI §RT 9 32T BT 80T IR
foram ar | &7 R 3w Yol @ H sfde f 1 [l e wY |
(a) Rs. 1,200 (b) Rs. 1,000
(c) Rs. 800 (d) Rs. 700

34.A Ltd. makes an issue of 10,000 Equity shares of Rs. 100

each payable as follows:
On application and allotment Rs. 50, On First Call Rs. 25, On
Second & Final Call Rs. 25, Members holding 400 shares did
not pay the second call and the shares are duly forfeited,
300 of which are reissued on fully paid at Rs. 80 per share.
Amount transferred to Capital reserve will be

(a) Rs. 16,500 (b) Rs. 16,000

(c) Rs. 15,000 (d) None of the above

U 30 UAH 100 . dTel 10,000 FHAT 3fe BT FFAT Bl &
ST fTaq <1 §-31ded Td fded WR 50 %, UM AT WR
25 %, fgdia ud eifvaw ame W 25 %, 400 379 @& gRUGAl
[ 7 gy e &1 YIaE el fBar qen e &1 Affaq
JrUERvT &) foram Trar, RraH & 300 A 80 w. UM I @I R
R it W AT = Y 9= 8 4ol daa § sraRa
IRT Bfi—
(a) 16,500 .
(c) 15,000 .

(b) 16,000 .
(d) g =TEl

35.Which of the following statements is true?

(a) A debenture holder is an owner of the company

(b) A debenture holder can get his money back only on the
liquidation of the company

(c) A debenture issued at a discount can be redeemed at a
premium

(d) A debenture holder receives interest only in the event
of profits.

= 5 9 P9 W pod W ® ?

(a) FEUUH GR® BT H WY BT &

(b) TP FRUUT gRE Had HEE D FHAOT R B AT YT

I o7 \AhaT &

(c) T® UUa S dec R Y fhar war § Wiftem R e

o S et

(d) T FUTuH €R%b DHac AT DY T F AT YT Bl 2 |

36. Which of the following statements is false?

(a) A company can issue convertible debentures

(b) Debentures cannot be secured

(c) A company can issue redeemable debentures

(d) Debentures have no right to participate in profits over
and above their fixed interest

1 % o9 9 BUT I 87

(a) TP HHAT IR F0TT SN HR el §
(b) FeoTas MRfIT (Secured) & 81 Fdhd ©

(c) TH HFI MY FEOUF SR PR Fhell &

37.

(d) U=t BT U fId &S © SR A H WIRT o Bl
BIS JRHR & BT |

Gama Ltd. issued 10,000, 10% debentures of Rs.100 each at
a discount of 10%. The entire amount is payable on
12,000
debentures. The allotment of debentures was made on 10th
October, 2009. The amount which should be credited to the
debentures account on 10th October, 2009 will be:

(a) Rs. 12,00,000. (b) Rs. 10,80,000.

(c) Rs. 9,00,000 (d) Rs. 10,00,000

T 1. 7 10 URIerd wekdl IR Y% 100 $UY dTel 10,000, 10
gfererd oy feffaa fed | wwget ¥ emaed R Sw R
12,000 FOIA & U MdSTU= U< gY | FOTAS Pl 3fdcH
10 37FCER, 2009 BT fbar TAT| &=RIRT, RRY 10 37@cER, 2009
DI OO W § BfSe fbar s @Ry, e —

(a) 12,00,000 BT (b) 10,80,000 BT

(c) 9,00,000 TT (d) 10,00,000 BT

application. Application were received for

38.X Co. Ltd. issued 1,00,000 debentures of Rs. 100 each at a

39.

discount of 4% redeemable after 5 years at a premium of
6%. Loss on issue of debentures will be

(a) Rs. 10,00,000 (b) Rs. 6,00,000

(c) Rs. 16,00,000 (d) Rs. 4,00,000

g fiI0 7 4% HEk W Y% 100 w0 dTet 1,00,000 FoTdH
fia 6 | R 2o 5 a¥ 918 6% WIfFH W 8RT, oAl
& e R B B8Rl —

(a) 10,00,000 & (b) 6,00,000 %

(c) 16,00,000 & (d) 4,00,000 &

X Ltd. purchased assets of Y Ltd. as under — Plant and machinery
of Rs. 20,00,000; Land and building of Rs. 30,00,000 for
purchase consideration of Rs. 55,00,000 and paid Rs. 10,00,000
in cash and remaining by issue of 8% debentures of 100 each at
a premium of 20%. No. of debentures issued to vendors will be
(a) 37,000 (b) 37,500 (c) 35,500 (d) 38,000
vad foa 9 a8 o7 @ e wwafcadt w3 @t ¢ 20,00,000 ©
@1 FI= Td I+, 30,00,000 % BT A g 9+, 55,00,000 ©
% HY Ufahd 89 9 10,00,000 % THe &Y T qAT I TG
20% & WM IR TS 100 & dTel 8% FA0TUH SN fohd |
faghamell &I R fd T FoaAT @ Hen gef-

(a) 37,000 (b) 37,500 (c) 35,500 (d) 38,000

40.When debentures are issued as collateral security against

any loan then holder of such debentures is entitled to
Interest only on the amount of loan

Interest only on the face value of debentures

Interest both on the amount of the loan and on the
debentures

None of the above.

S19 FRUYAT B AEUTRGS UfeMfd & w9 H SN fdHar i g,
AT OIS GRDI BT U BT ARBR 3—
(a) Bad FoT AR W T
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41.

42.

43.

44,

45.

(b) waet FoIF @& 3ifhd Hed W AT

(c) FoT <Ifr e ForuSt & $ifhd qeu, Hl W @

(d) 3T & I 7

Cash Balance Rs. 15,000; Trade Receivables Rs. 35,000;
Inventory Rs. 40,000; Trade Payables Rs. 24,000 and Bank
Overdraft is Rs. 6,000. Current Ratio will be:

(@)3.75:1  (b)3:1 (c)1:3 (d) 1:3.75
AHE Y 15,000 $UY, ATATRS U 35,000 HUY, IERAT 40,000
T ARG <IAT 24000 TUY 9 3AfaR $TFS 6000 FUJ & AT
T ST B :

(a) 3.7511 (b) 3:1 (c)1:3 (d) 1:3.75
Equity Share Capital Rs. 20,00,000; Reserve 5,00,000;
Debentures Rs. 10,00,000; Current Liabilities Rs. 8,00,000.
Debt-equity ratio will be:

(a) .4:1 (b) .32:1 (c).72:1 (d).5:1
|HEAT 3 Goll 20,00,000 FU, HaF 500,000 FU, FOIH
10,00,000 ¥UY AT SIRUE 8,00,000 U, B Al FO—FHAT
3UT BT

(a) 41 (b) .32:1 (c) .72 (d) .51
Opening Inventory Rs. 1,00,000; Closing Inventory Rs.
1,50,000; Purchases Rs. 6,00,000; Carriage Rs. 25,000;
Wages Rs. 2,00,000. Inventory Turnover Ratio will be:

(a) 6.6 Times (b) 7.4 Times

(c) 7 Times (d) 6.2 Times

URME e 1,00,000 TUY, AfTH FId 1,50,000, 3 6,00,000
ATST 25,000 BT, HSIGT 2,00,000 BUY BT AT ¥Cidh AT IJUTT
BT :

(a) 6.6 Times (b) 7.4 Times (c) 7 Times (d) 6.2 Times

A firm’s credit revenue from operations is Rs. 3,60,000, cash
revenue from operations is Rs. 70,000. Cost of revenue from
operations is Rs. 3,61,200. Its gross profit ratio will be:

(a) 11% (b) 15% (c) 18% (d) 16%
UH BH &I aRAme F SR 3 3,60,000 T &, Rt |
qdhe AMTH 70,000 U & AR uRATET & MM @ N
361,200 SO B AT SHBT AP M AU BT

(a) 11% (b) 15% (c) 18% (d) 16%
Purchases Rs. 7,20,000; Office Expenses Rs. 30,000; Selling
90,000; Opening 1,40,000;
Closing Inventory Rs. 80,000; Revenue from Operations Rs.

Expenses Rs. Inventory Rs.
12,00,000. Calculate operating ratio.

(a) 60% (b) 75% (c) 70% (d) 65%
I 7,20,000 $UY, HRATT AT 30,000 BUY, BT =T 90,000
IR YRS WIH 1,40,000 ST, AfTH Wldh 80,000 FUF R
gRETe™ ¥ 3IFH 12,00,000 T & A URATET ST &f
AUET HIY |

47.

48.

49.

50.

(b) Increase in Trade Payables

(c) Increase in Trade Receivables

(d) Decrease in Trade Receivables

gRared Al |§ Tdhe Uare & TUET dRd GHI gerT
ST

(a) gt et 3§ (b) amaRes & ¥ gf;
(c) =R a7 iy (d) =maRe urer # &
An example of cash flow from investing activity is:

(a) issue of debenture (b) Repayment of long-term
loan

(c) Purchase of raw materials for cash

(d) Sale of investment by non-financial enterprise

fafrimr wfafaft & Fdwe varg &1 ISR © -

(a) FFEoTUF SR BRAT (b) Erefmrei™ ol oier

(c) Tear ATl @EAT

(d) IR < <=em R fafF=mt &1 d=re

If a machine whose original cost is Rs. 40,000 having
accumulated depreciation Rs. 12,000, were sold for Rs. 34,000
then while preparing Cash Flow Statement its effect on cash

flow will be:

(a) Cash flow from financing activities Rs. 34,000
(b) Cash flow from financing activities Rs. 6,000
(c) Cash flow from investing activities Rs. 34,000
(d) Cash flow from investing activities Rs. 6,000

Ife T HqE RTIaT AT 40,000 B9 8, GRId & 12,000
BT B, BT 34,000 DU § AT AT, A b Ydg AR g4
I ST 9D JAIE W JATd TS —

(a) faxia wfafaft & Fog yare Rs. 34,000
(b) fo<im wfafafet & e yare Rs. 6,000
(c) fafsamr wfafafdslt & g yareg Rs. 34,000
(d) fafsarT fafaftrat & o vare Rs. 6,000
Mention the net amount of ‘Source’ or ‘Use’ of cash when a

fixed asset having book value of Rs. 15,000 is sold at a loss of
Rs. 5,000.

(a) Use Rs. 5,000 (b) Source Rs. 10,000

(c) Use Rs. 15,000 (d) Source Rs. 15,000

T4 TH I FART, ST gFad e 15,000 8§ B 5,000 T0T
P EIN TR 997 T & 9 b D WG AT SWIRT H g
ST —

(a) ST Rs. 5,000 (b) 1T Rs. 10,000

(c) SYATT Rs. 15,000 (d) = Rs. 15,000

Which of the following item is not considered as Cash

Equivalents?
(a) Short term Deposits in Bank (b) Commercial Papers
(c) Treasury Bills (d) Investment

Pl S THE TGS H A el BRI

(a) 60% (b) 75% (c) 70% (d) 65% A
46. While calculating cash flow from operating activities which will (a) ST # FeTamTell ST (b) anforsge w=
be deducted: (c) TRART gUst (d) fafeam
(a) Decrease in Prepaid Expenses
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